
THERMOSTAT

CAP (MODELS WITHOUT 
BOTTLE FILLER)

LOWER BOWL 
SUPPORT COVER

THERMOSTAT TUBE

E
V

A
P

O
R

A
TO

R
 M

O
U

N
TI

N
G

 S
C

R
E

W

CAP MOUNTING SCREWS

BOWL SUPPORT COVER 
MOUNTING SCREWS (4)

1-1/2" 
APPROX

REPLACEMENT INSTRUCTIONS:

REQUIRED TOOLS: PHILLIPS SCREWDRIVER (OR 5/16 NUT DRIVER), 7/16" NUT DRIVER, 1/4" BIT 1.
DRIVER, T25 TORX BIT,  (SUPPLIED), FLAT-HEAD SCREWDRIVER

DISCONNECT ELECTRICAL POWER TO UNIT.2.

REMOVE THE COOLER SKIRT.3.

REMOVE THE LOWER BOWL SUPPORT COVER.4.

IF SERVICING A BOTTLE FILLER UNIT, REMOVE THE BOTTLE FILLER (SEE PAGE 2)5.

REMOVE THE BOTTLE FILLER DRAIN BASIN IF APPLICABLE.  NOTE THAT A ZIPTIE ON THE LEFT SIDE 6.
OF THE UNIT MAY NEED TO BE CUT.  THIS ZIPTIE SUPPORTS THE REFRIGERATION COILS FOR 
SHIPPING AND DOESN'T NEED TO BE REPLACED.  THE DRAIN HOSE WILL NEED TO BE 
DISCONNECTED IN ORDER TO FINISH REMOVING THIS PART.

REMOVE THE CAP IF APPLICABLE.  NOTE THAT A ZIPTIE ON THE LEFT SIDE OF THE UNIT MAY NEED 7.
TO BE CUT.  THIS ZIPTIE SUPPORTS THE REFRIGERATION COILS FOR SHIPPING AND DOESN'T NEED 
TO BE REPLACED.

REMOVE THE EVAPORATOR MOUNTING SCREW. 8.
CAUTION: THIS ALLOWS THE EVAPORATOR TO BE SHIFTED SLIGHTLY TO IMPROVE EASE OF 
THERMOSTAT REPLACEMENT.  DO NOT MOVE EVAPORATOR MORE THAN NECESSARY OR A 
REFRIGERANT TUBE MAY RUPTURE.

USING A FLAT-HEAD SCREWDRIVER, PARTIALLY STRAIGHTEN THE END OF THE THERMOSTAT TUBE 9.
TO MAKE REMOVAL EASIER.

PULL THE THERMOSTAT OUT OF THE EVAPORATOR.10.

REMOVE THE TWO SCREWS HOLDING THE THERMOSTAT BODY TO THE FRAME.11.

REMOVE THE ENTIRE THERMOSTAT FROM THE UNIT.12.

SLIDE THE PLASTIC TUBING OFF THE OLD THERMOSTAT AND PLACE IT ON THE NEW THERMOSTAT 13.
TUBE.

INSTALL THE NEW THERMOSTAT, TAKING CARE TO BEND OVER THE END AS SHOWN, 14.
APPROXIMATELY 1-1/2 INCHES TO LOCK IT IN PLACE.

PUSH PUTTY BACK AROUND OPENINGS (TOP AND BOTTOM) IN EVAPORATOR TO SEAL-OFF 15.
SENSOR TUBE.

SET THE THERMOSTAT BY FOLLOWING THE INSTRUCTIONS ON THE LABEL SURROUNDING THE 16.
ADJUSTMENT SCREW.

RE-ASSEMBLE THE UNIT.  DO NO OVER-TORQUE THE EVAPORATOR MOUNTING SCREW OR IT MAY 17.
CAUSE TILTING OF THE EVAPORATOR.

RECONNECT ELECTRICAL POWER.18.

© 2019 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONJL 07/25/18 1
1:24BM 06/27/19 DRAWING TYPE: SIZE:   A

5357
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
5357

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

JL
ECN:

SHEET 1 OF 2

05100009605810 - REPLACEMENT 12XX THERMOSTAT



BOTTLE FILLER

BOTTLE FILLER
DRAIN BASIN

BOTTLE FILLER
MOUNTING SCREW

(BOTH SIDES)

3/8" - 1/4" QUICK-CONNECT ELBOW
(FIELD CONNECTION)

BOTTLE FILLER
INLET TUBING

FOAM 
INSULATION 

TUBING
(SUPPLIED)

BOTTLE FILLER MOUNTING &
TUBING CONNECTIONCIRCUIT

BOARD

WIRING HARNESS
FROM COOLER

WIRING HARNESS
RECEPTACLE
(FIELD CONNECTION)

WIRING HARNESS CONNECTION
(REAR OF BOTTLE FILLER)

DISCONNECTING TUBING

FIRST, PRESS COLLET
IN & HOLD

THEN, PULL
TUBING OUT

11/16"
(APPROX.)

CONNECTING TUBING

PUSH TUBING
INTO ELBOW

SEALING
O-RING

DISCONNECTING & RE-CONNECTING TUBING

BOTTLE FILLER REMOVAL INSTRUCTIONS:

REQUIRED TOOLS: PHILLIPS SCREWDRIVER (OR 5/16 NUT DRIVER),  1/4" BIT DRIVER, T25 TORX BIT (SUPPLIED)1.

IF A HI-LO UNIT IS INSTALLED, THE HIGH UNIT MAY NEED TO BE REMOVED IN ORDER TO ACCESS THE MOUNTING 2.
SCREW ON THE LEFT SIDE OF THE RIGHT UNIT.  REFERENCE COOLER OPERATION AND MAINTENANCE MANUAL.

REMOVE BOTH MOUNTING SCREWS.3.

DISCONNECT BOTTLE FILLER INLET TUBING FROM ELBOW CONNECTOR. REMOVE LOWER PIECE OF TUBING 4.
INSULATION.

SLIDE BOTTLE FILLER UP AND AWAY FROM UPPER MOUNTING BRACKET UNTIL WIRING HARNESS CONNECTOR IS 5.
ACCESSIBLE.  DISCONNECT THE WIRING HARNESS.

BOTTLE FILLER REPLACEMENT INSTRUCTIONS:

ASSEMBLE THE NEW BOTTLE FILLER, FOLLOWING THE STEPS ABOVE BUT IN REVERSE.1.

RE-INSTALL THE HIGH UNIT IF IT WAS PREVIOUSLY REMOVED.  REFERENCE COOLER OPERATION AND 2.
MAINTENANCE MANUAL.

RE-INSTALL THE COOLER SKIRTS.3.

RECONNECT ELECTRICAL POWER TO THE UNIT4.

RUN THE BOTTLE FILLER TO PURGE AIR FROM THE SYSTEM.5.

DRAIN BASIN 
MOUNTING SCREWS

© 2019 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONJL 07/25/18 1
1:24BM 06/27/19 DRAWING TYPE: SIZE:   A

5357
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
5357

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

JL
ECN:

SHEET 2 OF 2

05100009605810 - REPLACEMENT 12XX THERMOSTAT


	Sheet1
	Drawing View4
	Drawing View11

	Sheet2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8


